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#include <stdio.h> —‘==:::f:::::::::::]

#include <math.h> double

int main(void){
double t, newt, f, df, ya;

printf("'Please Input Initial Value TO ="); *———“’———_r’__________i]
scanf("%lf", &t); ﬁ__________Lhi ::]

f=101.3-exp(15.33-3785.0/t)*0.4-exp(15.68-4247 .0/t)*0.6;

LABEL:

df=-0_4%*exp(15.33-3785.0/t)*(3758.0/(t*t))
-0.6*exp(15.68-4247 .0/t)* (4247 .0/ (t*1));

printf("" t=%F F(t)= %F ¥n", t,F);

newt=t-(f/df);

4_________J’f pow ::]

if (pow(f,2.0) > 0.00001)
{

t=newt;
goto LABEL;

ya=(exp(15.33-3785.0/t)*0.4)/101.3;
printf("** Final Answer **¥n™); ——=====::::E:?¥n" ::]
printf("" t=%fF [ ]¥n",t-273.15);
printf("" F()=%f¥n",f);
printf(’" yA=%f¥n",ya);

return(0);

Please Input Initial Value TO =400
t=400.000000 f(t)= -134.836777
1=376.895557 F(t)= -27.275757
t=369.258985 f(t)= -2.157152
t=368.537972 f(t)= -0.009265
t=368.534821 f(t)= 0.000039

** Final Answer **
1=95.384821 [ ]

F(t)=0.000039
yA=0.622024




